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The key to harnessing the computer's ability to perform repetitive rask~ at
fantastic speed is

a. the procedure-oriented language
b. the compiler

c. the stored program .

d. the high-speed printer

e. none of the above
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Which of the following FORTRAN @t#téments is not allowed?

8, 7= Ll
b. AVGE = TOT/3
c. W = PR%2
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Completion Questions (6 questibns,-3 points each)
Draw the flowchart symbol that represents the beginning or termination of
a program.
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A memory register that cam hold one character of data is called a(n)

o T
) 7

A TR O :"!. ."v
An arithmetic statement in FQRTKAN Bas the form

b . 5
Y f : L
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A FORTRAN statement thd& 48 translated ihno one or more machine language
instruction is calle¢ afn) L statement.

Statement numbers muSt be vvitten in columns of the FORTRAN

coding form. B »

Indicate how you: wohla pﬁn&h thetnumber'174 31 in a ten-position decimal
field with specification ~¥10.4, assuming that the decimal point is not to
be punched. Use the eynb*ol A to 1ndicate a blank.
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After the following»seduencevof FORTRAN statements, what is the value of D?

A=35,

B =4,

Cim. —2.

D = (A*B+C)/B
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